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1-htu Yhuwdjuly, 16 rwpwpe
1 | Poyubiph $hqhninghw 4 4 64 56
2 Utinuyhtt Uhowduwyp b pnyubiph ubiunnipinih 6 5 90 90
3 Qtpdwwnbiwghtt hudkubphw 6 5 90 90
4 Qhunwljut hbnwgnunnipynibubph kpngubp 4 4 64 56
5 LUwdpuwnmpwiht wnwplw 6 6 96 84
Uwdpuwmpwjht
Qpninught obpdwnbpnh swhwgnpénud 6 6 96 84
5 Ulljwpniswpwbtkph owhwgnpénid 6 6 96 84
Uplwnwpdught b dkpdwupbwngupdwght pnygubph dowlnipnit 6 6 96 84
Lunwdbup 1-ht Yhuwdjwlynid 26 24 404 376
2-pn jhuwdjuly, 14 2wpwp
1 Qtpdwwnwt Uhpnyhduwgh junwupnud 6 4 56 124
2 Pnyjubiph dpwlnipniup Jupquynpynn dhowuwypnid 10 8 112 188
3 Ugpnphuhw 6 4 56 124
4 Pnyubiph wuwownwwunipmnil 4 3 52 68
26 19 276 504
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2 Npulh yEpwhulnpnipnit b vnwinupnibkp 6 4 56 124
3 Pnyubiph hwjugpbgnipniup uppbuwghtt wuydwtkpht 4 4 56 64
4 LUwdpuwnmpwihtt wnwplw 6 6 84 96
Ywdpuwnmpwiht wnwplywubp
Fhqutu twpowgstph junwjupnid 84 96
> Ghunwluwt twhwgstph junwywpnid 84 96
Lunwdbup 3-pn Yhuwdjwlynid 20 18 252 348
LEnwgnunwlwu ypwynhlw 8 240
(Fbgh wwonwwunipnLu 10 300
Lunwdbup 90 1172 1528




